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ne runs a T-shitt company. Tor each order she receives, Francine charges a flat fee of §50, plus $8.5

hirt . b= 50 = 8’
fe an equation for the total cost, C dollars, for ordering # T-shirts. F Al

George ordered 62 T-shirts, What was the total cost? £
) Jake paid  total cost of 597185, How many T-shirts did he order?
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1, Find the valuz of K, (K, -Thand (1, 12) m= 198,
f - 9l = 4
e, 0 |
o N -6=6
- v=5
(s
9, Determine the slope parallel w3 2y - 1} = [2x+ 2
Ayl=al  med
= Kx+2 m‘ll=35 fria
l:b A Yhe <an=e
10.  Thetesraing the slope perpendicular fo 3y -4 = 8x + 5
3.:5 = Bx+9 e B
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373 =3 | eacperdiamal
$lope
I A line passes through puims.[-!, Bf) and (2f, 23, 17 the slope is parallel WQE; s, fin I,
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s=2

N Tine passes through paints (-2K, 2) and (8, k). If the slope is parallel to the x-nxis, find k.
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W A Time prosses laangh B, 99 nnd K-, 15)
ah What is the slope of line RET
m “What is fhe paraliel slope?
c} Wit is the perpendicular slope”
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